FOR SATYAM PLACEMENT PAPERS AND INTERVIEW QUESTIONS, KEEP WATCHING PREVIOUSPAPERS.BLOGSPOT.COM good luck!!
SATYAM GD & INTERVIEW - 2006 

Around 250 people attended and they shorlisted 103 students.(It was both for freshers and experienced.)

See all Satyam Placement Papers here:
First they will shortlist the students, for the GD. 


IN each GD 10 students were participating and the topics given were as follows:


1. Mobile phones should be allowed in educational institutions or not.

2. Do u support sania mirza on her dressing.

3. Comment on todays political parties.

4. Reservation system in india.

5. Hurricane in US.


The candidates who perform well are selected from the GD interview and Then a technical interview is held depending upon the branch of the candidate whether its ece, cse or eee.

1. What is ur favorite subject?

2.Tell me something about transformers?

3.Being a EEE why do u want to join satyam?

4. Do u know c more or jave more? (as i wrote java in my profile they asked me . i said C and they asked all questions from java).

5.What is polymorphism?

6.What are oops concepts?

7. What are access specifiers?

8. What are ejb contents?

9.Structure of JDBC?

10.If C is the mother language then y java has been developed and used?

11. Explain AND and OR gates with truth tables?


Then the HR interview
1. Tell me about urself?

2. Are u the eldest?

3. What is ur life ambition?

4.If we post u in bihar for 5 years, then do u resign?

5. Where do u see urself after 5 years from now?

6.When will u get married?

7.What would be ur prefernece to ur job or to ur family?

8. R u ready to sign a bond for satyam?

9. Any questins to ask?

PAPER 1--GENERAL APTITUDE 

See all Satyam Placement Papers here:
Directions: Each question given below consists of a word, followed by four words or phrases. Choose the lettered word or phrase that is most nearly opposite in meaning to the word in the question.
ANTONYMS
1. Disregarded (a) heed (b) hopeful(c) evade(d) dense
Ans. (a)
2. Obviate(a) becloud(b) necessitate(c) rationalize(d) execute
Ans. (b)
3. Superficial(a) profound(b) exaggerated(c) subjective(d) spirited
Ans. (a)
4. Abide(a) retract an offer(b) refuse to endure(c) shield from harm(d) exonerate
Ans. (b)<>
6. A Brown female could have hadI. a grandfather born RedII. a grandmother born RedIII. two grandfathers born Brown
(a) I only(b) II only(c) I and II only(d) II and III only(e) I,II and III
Ans. (c)
7. A male born into the Brown group may have
(a) an uncle in either group(b) a Brown daughter(c) a Brown son(d) a son-in-law born into the Red group(e) a daughter-in-law in the Red group
Ans. (a)
8. Which of the following is not permitted under the rules stated?
(a) A Brown male marrying his father's sister(b) A Red female marrying her mother's brother(c) A man born Red, who is now a widower, marrying his brother's widow(d) A widower marrying his wife's sister(e) A widow marrying her divorced daughter's ex-husband
Ans. (b)
9. If widowers and divorced males retained the group they had upon marrying, which of the following would have been permissible? (Assume no previous marriages occurred)
(a) A woman marrying her dead sister's husband (b) A woman marrying her divorced daughter's ex-husband.(c) A widower marrying his brother's daughter(d) A woman marrying her mother's brother, who is a widower(e) A divorced male marrying his ex-wife's divorced sister
Ans. (d)

Questions 10-13

Tom wishes to enroll in Latin AA, Sanskrit A, Armenian Literature 221, and Celtic Literature 701.Latin AA meets five days a week, either from 9 to 11 A.M or from 2 to 4 P.M.Sanskrit A meets either Tuesday and Thursday from 12 noon to 3 P.M., or Monday, Wednesday, and Fridayfrom 10 A.M to 12 noon.Armenian Literature 221 meets either Monday, Wednesday, and Friday from 12:30 to 2 P.M., or Tuesday and Thursdayfrom 10:30 A.M to 12:30 P.MCeltic Literature 701 meets by arrangement with the instructor, the only requirement being that it meet for one four-hour session or two two-hour sessions per week, between 9A.M and 4 P.M from Monday to Friday, beginning on the hour.
10. Which combination is impossible for Tom?
(a) Latin in the morning, Sanskrit on Tuesday and Thursday, and Armenian Literature on Monday, Wednesday, Friday(b) Latin in the afternoon and Sanskrit and Armenian Literature on Monday, Wednesday, and Friday.(c) Latin in the afternoon, Sanskrit on Monday, Wednesday, and Friday,and Armenian Literature on Tuesday and Thursday(d) Latin in the morning and Sanskrit and Armenian Literature on Monday, Wednesday, and Friday(e) Latin in the afternoon, Armenian Literature on Monday, Wednesda and Friday, and Celtic Literature on Tuesday
Ans. (d)

11. Which of the following gives the greatest number of alternatives for scheduling Celtic Literature, assuming that all other courses
(a) Latin in the afternoon and Armenian Literature Monday, Wednesday and Friday(b) Sanskrit on Tuesday and Thursday and Armenian Literature on Monday, Wednesday and Friday(c) Latin in the afternoon and Armenian Literature Tuesday and Thursday(d) Latin in the morning and Sanskrit on Tuesday and Thursday(e) Sanskrit on Monday, Wednesday, and Friday. and Armenian Literature on Tuesday and Thursday
Ans. (a)

12. If the Celtic instructor insists on holding at least one session on Friday, in which of the following can Tom enroll?(I) Armenian Literature on Monday, Wednesday, and Friday(II) Sanskrit on Monday, Wednesday, and Friday
(a) I only(b) II only(c) both I and II(d) I or II but not both(e) neither I nor II
Ans. (d)

13. Which of the following additional courses, meeting as indicated, can Tom take?
(a) Maths--Monday, Wednesday, and Friday from 10A.M to 12 noon(b) French--Monday, Wednesday, and Friday from 11A.M to 12:30 P.M(c) English--Tuesday and Thursday from 2 to 4 P.M(d) Japenese--Tuesday and Thursday from 1 to 3 P.M(e) Old Norse-Icelandic--Monday only from 12 to 3 P.M
Ans. (b)

Questions 14-18

(1) Ashland is north of East Liverpool and west of Coshocton (2) Bowling Green is north of Ashland and west of Fredericktown(3) Dover is south and east of Ashland(4) East Liverpool is north of Fredricktown and east of Dover(5) Fredricktown is north of Dover and west of Ashland(6) Coshocton is south of Fredricktown and west of Dover

14. Which of the towns mentioned is furthest to the northwest ?
(a) Ashland(b) Bowling Green(c) Coshocton(d) East Liverpool(e) Fredericktown
Ans. (b)

15. Which of the following must be both north and east of Fredricktown?(I) Ashland(II) Coshocton(III) East Liverpool
(a) I only(b) II only(c) III only(d) I and II(e) I and III
Ans. (e)

16. Which of the following towns must be situated both south and west of at least one other town?
(a) Ashland only(b) Ashland and Fredricktown(c) Dover and Fredricktown(d) Dover,Coshocton and Fredricktown(e) Dover,Coshocton and East Liverpool
Ans. (d)

17. Which of the following statements, if true, would make the information in the numbered statements more specific?
(a) Coshocton is north of Dover(b) East Liverpool is north of Dover(c) Ashland is east of Bowling Green(d) Coshocton is east of Fredericktown(e) Bowling Green is north of Fredericktown
Ans. (a)

18. Which of the numbered statements gives information that can be deduced from one or more of the other statement?
(a) (1)(b) (2)(c) (3)(d) (4)(e) (6)
Ans. (c)

Questions 19-22

Spelunkers International offers exploring tours in eight caves: Abbott, Benny, Caeser, Dangerfield, Ewell, Fields, Guinness, and Hope(1) Class 1 spelunkers may not attempt cave Ewell, Fields or Hope(2) Class 2 spelunkers may not attempt Hope(3) Class 3 spelunkers may attempt any cave(4) Cave Caesar may be attempted only by spelunkers who have previously explored cave Benny(5) Cave Fields may be attempted only by spelunkers who have previously explored cave Ewell(6) Only two of caves Benny, Caeser, Ewell, Fields, and Hope may be attempted by any explorer in a single tour

19. A class 2 spelunker who has previously explored cave Ewell may be restricted in choosing a tour by which rule(s)?(I) Rule(4)(II) Rule(5)(III) Rule(6)
(a) I only(b) II only(c) I and III only(d) II and III only(e) I, II and III
Ans. (c)

20. In how many different ways may a class 1 spelunker who has never explored any of the eightcaves before set up a tour of three caves, if she wishes to explore caves Abbott and Caesar?
(a) 2(b) 3(c) 4(d) 5(e) 6
Ans. (b)

21. What is the maximum number of caves that a class 3 spelunker who has previously explored only cave Benny may includein a single tour?
(a) 4(b) 5(c) 6(d) 7(e) 8
Ans. (b)

22. If x + y = 3 and y/x= 2 then y = ?
(a) 0(b) 1/2(c) 1(d) 3/2(e) 2
Ans. (e)

23. How many squares with sides 1/2 inch long are needed to cover a rectangle that is 4 ft long and 6 ft wide
(a) 24(b) 96(c) 3456(d) 13824(e) 14266

24. If a=2/3b , b=2/3c, and c=2/3d what part of d is b/
(a) 8/27(b) 4/9(c) 2/3(d) 75%(e) 4/3
Ans. (b)

25. Successive discounts of 20% and 15% are equal to a single discount of
(a) 30%(b) 32% (c) 34% (d) 35% (e) 36
Ans. (b)

26. The petrol tank of an automobile can hold g liters.If a liters was removed when the tank was full, what part of the full tank was removed?
(a)g-a(b)g/a(c) a/g(d) (g-a)/a(e) (g-a)/g
Ans. (c)

27.If x/y=4 and y is not '0' what % of x is 2x-y(a)150%(b)175%(c)200%(d)250%Ans. (b)
28.If 2x-y=4 then 6x-3y=?
(a)15(b)12(c)18(d)10Ans. (b)

29.If x=y=2z and xyz=256 then what is the value of x?
(a)12(b)8(c)16(d)6
Ans. (b)
30. (1/10)18 - (1/10)20 = ?
(a) 99/1020(b) 99/10(c) 0.9(d) none of these
Ans. (a)

31. Pipe A can fill in 20 minutes and Pipe B in 30 mins and Pipe C can empty the same in 40 mins.If all of them work together, find the time taken to fill the tank
(a) 17 1/7 mins(b) 20 mins(c) 8 mins(d) none of these
Ans. (a)

32. Thirty men take 20 days to complete a job working 9 hours a day.How many hour a day should 40 men work to complete the job?
(a) 8 hrs(b) 7 1/2 hrs(c) 7 hrs(d) 9 hrs
Ans. (b)

33. Find the smallest number in a GP whose sum is 38 and product 1728
(a) 12(b) 20(c) 8(d) none of these
Ans. (c)

34. A boat travels 20 kms upstream in 6 hrs and 18 kms downstream in 4 hrs.Find the speed of the boat in still water and the speed of the water current?
(a) 1/2 kmph(b) 7/12 kmph(c) 5 kmph(d) none of these
Ans. (b)

35. A goat is tied to one corner of a square plot of side 12m by a rope 7m long.Find the area it can graze?
(a) 38.5 sq.m(b) 155 sq.m(c) 144 sq.m(d) 19.25 sq.m
Ans. (a)

SOME QUESTIONS WHEREIN TWO STATEMENTS ARE GIVEN ARE ALSO THERE WHERE YOU HAVE TO TELL WHICH STATEMENT IS CORRECTSOME QUESTIONS ALSO APPEARED FROM THE BARRON'S GMAT GUIDE.PAGE NO. 439 PASSAGE AND QUESTIONS 1 TO 9PAGE NO. 440-441 PAGE 442 PASSAGE 2ALSO REFER TO BARRON'S GRE BOOK FOR ADDITIONAL ANALYTICAL QUESTIONS.

PAPER 2--GENERAL AWARENESS
1. Who is the father of computers 2. Expand HTML,DMA,FAT,LAN,WAN,FDDetc 3. Which was intel's first microprocessor4. Convert 1024 (in decimal) to octa and hexadecimal form5. First microprocessor was (a) 8085(b) 8088(c) 8086(d) 804876. Give the name of a processor produced by mortorola?7. What is the full form of WindowsNT ? 8. What is the difference between 8087 and 8086
BESIDES THIS QUESTIONS WERE ALSO BASED ON IBM PC CLONES, BASIC QUESTIONS ON GUI SIMPLE PROGRAMS LIKE FINDING FACTORIALS, LARGEST OF THREE NUMBERS ETC. HAVE ALSO BEEN ASKED IN THE PAST.

FOR SATYAM PLACEMENT PAPERS, GD AND HR INTERVIEW QUESTIONS, KEEP WATCHING PREVIOUSPAPERS.BLOGSPOT.COM good luck!!
See all Satyam Placement Papers here:
GD TOPICS ASKED:
LOVE MARRIGE VS ARRANGE MARRIGE,IRAQ WAR, kUINKI SAAS BHI KABHI BAHU THIAND KHANI GHAR GHAR KI( TV SERIALS).THERE WAS NO ESSAY WRITING.

SEC-2
IF rose code as 6786 hot coded as 879 then search will code asin this q there is one no. is assigned t each letter.so take search and letter by letter see the given condition.

2.600,180,54...........complete the series.

3.sedane:pain :: solace:........ans: grief.

4.play:director :: newsans: editor.

5.river:dam :: traffic(a)signal (b)motin (c)vehicle (d)

6.find the greatest no. (a)half 50%of 50 (b)3times 40%of 40see the obtion & place 3times 40% of 40 blindly.

7.find the compound interest of 1000 rs. at the rate of 5% p.a. for 15 years.

8.find the greatest of 1000power of 1000,1001power of 999

9.product of two no is constt. if one no. is increased by 50% then other no is decreased how much.ans: 33.3

10.l.c.m & h.cf of two no is 84 & 21 respectively and the ratio of these two no is 1:4 findthe gretest no ans: 84 place blindly.

11.if x is 90% of y then y is how much % of x.

12.the cost of 15 apples & 20 mangoes is much as equal to the 15 mangoes & 20 apple then what is the relation between their cost..(a)apple is as much equal as mangoes.place blindly (a) obtion.

13.there r 20 men and 5 women then how much maximum couple can be made.....ans: 20c1*5c1=100. place 100 blindly.

14.a bag contains 8 white and 6 black balls find the prob. of drawing a white ball....ans: 4/7 place blindly.

15.if numerator is less than 2 by denominator and then if 1 is subtract from the numerator and 1 is added to the denominator then the ratio becomes half what is the no.....ans: 5/7 place blindly.

16.if a certain money becomes twice in 5 years.then the 300 rs. will become 2400 at the same rate in howmany years........

17.if the average of three numbers is 135.and the difference between others is 25 then find thelowest no.

18.if the thrice of three consecutive odd no is equal to the more three of twice the last no.then find the 3rd (largest odd no).ans: 11.

19.there are 5 questions in each of the two section.three questions must be attempt forpassing the exam how many ways a student will choose the questionans: 100 place blindly.

20.if the lenght of the rectangle is decreased by 4 and breath is increased by 3.then it becomes sqaurewhose areas is equal to that of rectangle.what is the perimeter of the original rectangle.

21.there is a hemisphere of radius of 2 cm how much litre will be occupied in the hemisphere.given 1 litre= 1000 cubic cm.

22.there is a water tank which has enough water to be consumed in 60 days.if there is a leakage water stays there for 40 days.if there are more similar leakage then how lomg water will consumed.

23.a man saves money 1000 in each year.and he gives this amount at the end of year for the compound interest at the rate of 5% how much he will save after 25 years.

24.after giving 35.66% discount. a saler makes a loss of 11.11 rs.

25 there is an intersection question cannot remember it but the answer is b

26.the sides of a rectangle is 100 cm and 60 cm if there is a path of 5 cm around the rectanle.it is included in that given rectangle.find the area of that path.

27.there is a number when diveded by 5 gives a remainder 3 and when divede by 7 gives a remainder of 5 Ans is 33.

Q28.a train when travelling from 2 station A and B when travelling a speed of 50km/hr is late by 10min,and when travelling at 30km/hr arrives a late by 50min. Find the diatance.

29.rational no. is a.........ans: real no. place blindly.

30.a boat is going along the stream and returning in the opposite direction of stream it travels 10 km along stream.the sppeed of stream is 3 km/hr,then find the speed of boat.

31.a boy leaves his home 15 minute before his shedule time.he takes 10 minutes to reach the bus stop.he arrive at the stop at 8:40 am when he leaves the home.

32.A and B runing around a circle of perimeter of 1200meter(may be differ).A is runing at 210 meter/minute and bB is runing190 metre/minute in oppsite direction to each other.at wich time they will meet.

33.a boy start to count from 32 in the descending order.and another boy start counting from 1 at the same time and he count only the odd no.then find which no they will count at the same time.there were 5 questions on syllogism. if inference is true then A is rightif inference is false then B is rightif inference is probably true then cotherwise D

34.all the wives are womenshe is women.inference:she is wife

35.some of the teachers are fool.A is a teacher.inference:A is a fool.

36.there is a ladder and 4 persons (A,B,C,D) on the ladder. A is further up than B and C.D is further up than A.Which is third from the bottom of the ladder? Ans: person A.

37.A person goes to the house of Sita who is the neighbour of Gita. Amar married with Anita who is the sister of Sita.Ashu is the father of Amar.(a) What is the relation between Sita and Amar?(b) What is the relation between Amar and Gita?

38.In an elevator either 12 adults or 20 children can go. If 15 children already occupied the space , how many adults can go with children?ans: 3

39.Amit's D.O.B. is 3rd March 1980. Amit is four day's older than Sumit. The Republic Day of 1980is Thrusday. What is the day of Sumit's D.O.B.?

40.A complete a race of 120m taking 4sec less than B. B takes one sec less than C. How much timetaken by A to complete the race?

41.A person pointing towards a lady says She is the only sister of my father. Find the no. of childs of grandfather?ans: can't say

42.If GEN = 9 , ABOUT = 15 then GENERAL = ?

43.If DUST is called AIR . AIR is called RAIN.RAIN is called WATER. WATER is called COLOUR.COLOUR is called ROAD. ROAD is called DUST.Where the Fish lives?

44.A is richer than B. B is richer than C. C is richer than D. D is richer than E. Then who is the middle of this relation.

45.there is question to find the code of SEARCH the ans is c.There are 5 or 6 questions based on coding and decoding.

46.A to Z. First letter A is swapped with Z, second letter B with Y, and so on. Which letter thetenth from right.

FOR SATYAM PLACEMENT PAPERS, GD AND HR INTERVIEW QUESTIONS, KEEP WATCHING PREVIOUSPAPERS.BLOGSPOT.COM good luck!!
See all Satyam Placement Papers here:
satyam paper-NIT

Duration 45 mins,
No. of qns: 30.

Q1.
out of 90 students in a college , neither take economics nor history ,among them x (forgot) takes history ...... y (forgot) takes eco. ....... how many of them take both ...... some seq r given for that..... have to arrange that
ans: i have marked d)none

Q2.
if entry is coded as xxxxx ....... some other word's code was given(forgot) ......... then we have to find the code for
a given word(forgot) ............ very easy to solve
ans:c)

Q3.
square. of sum of two numbers is 130 more than the twice of the product of the two nos.
find the sum of the squares of the two numbers .....(hints:(x+y)^2-2*x*y=130......find x^2+y^2)
ans:a)130

Q4.
have to buy 120 reals of paper each price rs.100/- ......... transportation rs.360 ......... coolie charge rs.60 ....
some other charge (forgot) for each reals of paper 50 paise ........... to have 20% profit what will be the selling
cost of each reals of paper.
ans:a)126(check)

Q5.
a,b,c,d,e are five members of a club .............. a,d are unmarried .......... b,c are brothers ........... e is the husband
of a couple(some more easy conditions r given ).. ...... who will be the wife of e?
ans: c)c

Q6.
read for speaking is coded as xxx yyy zzz(forgot) ............ soft speaking is coded as ppp tttt(forgot) .........
read aloud is coded as vvv nnn ......... what will be code for soft?
ans:d)none

Q7.
1.N=100
2.N is divided by 3.remander is saved in a
3.N is divided by 7. remainder is saved in b
4.N is divided by 11. remainder is saved in c
5.if a=2,b=6,c=2....then print N
6.N=N+1.
7.if N>999 ,stop
what seq of the following will be the output?
ans:d)none
**the same q was repeated twice

Q9.
r=8,j=5-------->k=r+j -------->................------>print k ...............
ans:d)none

Q10.
u have to print ur name in reverse order (some seqs were given in arbitrary order ......... have to arrange those steps)
1.get the lenght of the sting L.
2.print L th character
3. if L=0 ,stop
4.L=L+1.
5.
6.goto the step where L is incremented
ans:apply ur own logic

Q11.
1. we have a value of m=50.
2. n is initialised to 2
3. n is subtracted from m
4. to increment the value of n add with itself
5. repeat step 3 & 4
how many repitions will be there such n>m
a)4 b)8 c)9 d)none
ans:d)none(check)

Q12.
...................------------->if IA<=xxx ------->then print I+1-------->else print I
ans:d)none (actually I=2 was coming ,but all given ans were greater than I)

Q13.
1. accept a,b,c
2.if a<100>999
3.if b <> 999
5. a1 = a%100; a2 = a1% 10
6.b1=b%10
7.c1=c%100;c2=c1%10
8.x=a1+a2+b1+c2
a=326,b=two digit no,c=three digit no
ans:a)ans sure most probably it's value is 17

Q14.
5 steps are there
6 th step has to be filled up
7 th step was given
ans:a has to be replaced by a+1

Q15.
some flowchart was given
then output of the flowchart is 1,1,3
what will the value of a parametre
ans:
b)375

Q16.
flowchart
N=1 initial value
then some steps
.
N=N*N*N
.
N=N+P
.
if the output was 1,27,125,
what will be the value of P
ans:
2

Q17.
a flow chart was given (forgot)
ans: R>10

8 groups were there

GD topics
1. Relevance of G.D for recruitment of any co
2. Higher education in india or abroad ....... which is better?
3. Importance of I.T industries in India
4. Should there be any retirement for politicians?
5. Effect of media ........ good or bad?
6. American policy applied in global
7. Effect of internet

	


SATYAM PLACEMENT PAPER FEBRUARY 2007
Kakinada Institute Of Engg. & Technology , AP

1) if a boy goes at 15kmph and returns back at 20kmph what is his avg. speed easy one just 2x15x20/(20+15).

2) A pyramid Q just adding two down numbers with the top one

3) A very easy Q on clocks what is angle between the hands when time is… ans 160min

4) Reasoning ques which is not seen but tough

5) A ques on probability when a die and coin tossed what is the probability of getting a head and 6 on top.

6) Series ques 2, 4, 6, 5,?, 9, 8, 10, 12 ans 7.

7) Another ques on reasoning like farmers growing crops and govt.’s subsidies for that just we have obtain the INFERENCE of the Para easy one.

8) Reasoning Q similar to PUZZLE TEST OF R.S.AGGARWALS NON VERBAL REASONONG just by drawing table u can find the answer.

9) Pie diagram showing a states growth in different categories and Q related to a particular category.

10) Routine question if 0 replaced by 1 and vice versa then what is sum of two numbers 0101010 =1010101 =85.

11) Question on reasoning related to figures to find the fourth successive figure using first three given ones easy.

12) Problem on multiplication a bit logical

That’s all I remember of written please excuse for other Qs So after waiting for 3hrs results were out 650 cleared. They divided into 65 batches of 10 basing on the alphabetical order of their names. Luckily I had GD on next day so prepared well before day some of my friends had on first day. 

Day 2: 10th Feb 07.
For remaining students they conducted GD’S and totally they took 90+45=135.

GD: My topic is “CAPITAL PUNISHMENT”

I MADE THE INITIATIVE AND supported the topic and a strong opposition from another girl but not aggressive went cool Before starting my moderator gave us two minutes to make points but that is not the case in case of other HR so please be prepared. Other topics include 

1.solution to terrorism in india.
2.role of youth in reducing corruption.
3.illeteracy and unemployment go hand in hand.
4.education necessary to enter politics.
5.brain drain good for india
6.printing media vs electronic media.
7.is us a friend or foe to india.
8.are women better employees.
9.sports persons are they on an endorsement spree?
10.kbc money making or money gaining? 

That’s all about GD’S and the filtration is more on second day and from my group only two were selected. There are some batches where not even one has been selected so please be sure about the points and the batch should not be AGRRESSIVE AT ANY COST. SO 135 went for HR, after filling form of satyam, I had my slot at 3:30pm. Around 8 persons were waiting before my HR panel so it took around an hour to get my chance means TEST FOR PATIENCE.

Finally my number called 

INTERVIEW: 

Me: may i come in sir.
Hr: please come in take ur seat
Me: thank you sir.
Hr: well raghavendra ur frm eee
Me: yes sir
Hr: so why did u choose soft ware?
Me: i gave a splendid answer and is received well by him.
Hr: what about ur project?
Me: i gave complete information about my project i am the team leader of my batch so i had a profound knowledge over it and did not stop for almost 5 min.
(hr is very much impressed by the way i answered the question)

Hr: what about ur exra curricular activities
Me: i gave information abt my poster, participation in shaastra-06 iit madras, nss volunteer,also my experience in organising concours (an event conducted by my college)
Hr: why should i hire u?
Me: i said all my strenghts including time boundedness in completing the tasks and my leadership qualities in organising concours
Hr: do u have any questions
Me: can i have my feedback
Hr: ur english speaking fluentzy is good, suggested t learn cpp and to improve your writing skils (should be able to use grammatically perfect sentences at high level) 
Hr: please wait for the result and congratulated me.
1) A Hexagon(H1) with all sides of length ‘a’, If Midpoints of the sides of Hexagon are Joined we can get another Hexagon(H2), What is the ratio of Areas of H2 and H2? 
2) One question on Ratio Propotion Simple one 
3) One question is on arrange seating on a table 
4) GRE type one question 
5) One Program will be given 
T=1; 
T1=T+2; 
T2=T1*2; 
T3=T-2; 
……… 
….. 
Up to T7 will be given 

Atlast he ask one question on that what will be the 

valueT7 when T=6; 

It is also Easy one 

6) Calender Problem if 2nd January 2005 is Monday what is the day of 2nd January 1895 

7) One question on Time and Work 

8) ? 

76 120 

29 50 73 

10 22 31 45 

Answer is 193 

Solution is 10+22=32-3=29 

22+31=53-3=50 

That is the Logic Adding two number s in the lower row 

and subtract 3 from it…. 

I only Remember this much ……. 

Questions are not tough …By seeing only we can answer up to 6 or 7 then remaining some what tricky But we 
can do it 

In G.D Topics 

>Should Mobiles Banned in Colleges or Not 

>which state is best for IT Industry 

In G.D don’t Argue with any One , Just Put forward Ur words Boldly … 
That’s Enough and Do some Managerial things Like Giving Chance to ur Friends and Let Others to Talk….. 

Interview also Not that much Tough …..Just basic 

Concepts Even if u having Luck They Don’t Ask Any 

Technical Questions 

Only 3 to 4 Hr Questions
1.IF rose code as 6786
hot coded as 879
then search will code as in this q there is one no. is assigned t each letter.so take search and letter by letter see the given condition.

2.600,180,54...........
complete the series.

3.sedane:pain :: solace:........
ans: grief.

4.play:director :: news
ans: editor.

5.river:dam :: traffic
(a)signal (b)motin (c)vehicle (d) 


6.find the greatest no. 
(a)half 50%of 50 (b)3times 40%of 40
see the obtion & place 3times 40% of 40 blindly.

7.find the compound interest of 1000 rs. at the rate of 5% p.a. for 15 years.


8.find the greatest of 1000power of 1000,1001power of 999

9.product of two no is constt. if one no. is increased by 50% then other no is decreased how much.
ans: 33.3

10.l.c.m & h.cf of two no is 84 & 21 respectively and the ratio of these two no is 1:4 find the greatest no 
ans: 84 place blindly.

11.if x is 90% of y then y is how much % of x.

12.the cost of 15 apples & 20 mangoes is much as equal to the 15 mangoes & 20 apple then what is the 
relation between their cost..
(a)apple is as much equal as mangoes.
place blindly (a) obtion.

13.there r 20 men and 5 women then how much maximum couple can be made.....
ans: 20c1*5c1=100. place 100 blindly.

14.a bag contains 8 white and 6 black balls find the prob. of drawing a white ball....
ans: 4/7 place blindly.

15.if numerator is less than 2 by denominator and then if 1 is subtract from the numerator and 1 is added to the denominator then the ratio becomes half what is the no.....
ans: 5/7 place blindly.

16.if a certain money becomes twice in 5 years.then the 300 rs. will become 2400 at the same rate in how
many years........

17.if the average of three numbers is 135.and the difference between others is 25 then find the lowest no.

18.if the thrice of three consecutive odd no is equal to the more three of twice the last no.then find the 3rd (largest odd no).
ans: 11.

19.there are 5 questions in each of the two section.three questions must be attempt for passing the exam how many ways a student will choose the question
ans: 100 place blindly. 

20.if the lenght of the rectangle is decreased by 4 and breath is increased by 3.then it becomes sqaure whose areas is equal to that of rectangle.what is the perimeter of the original rectangle.

21.there is a hemisphere of radius of 2 cm how much litre will be occupied in the hemisphere.
given 1 litre= 1000 cubic cm.


22.there is a water tank which has enough water to be consumed in 60 days.if there is a leakage water stays there for 40 days.if there are more similar leakage then how long water will consumed. 


23.a man saves money 1000 in each year.and he gives this amount at the end of year for the compound interest at the rate of 5% how much he will save after 25 years.

24.after giving 35.66% discount. a saler makes a loss of 11.11 rs.

25 there is an intersection question cannot remember it but the 
answer is b 

26.the sides of a rectangle is 100 cm and 60 cm if there is a path of 5 cm around the rectanle.it is included in that given rectangle.find the area of that path.......

27.there is a number when diveded by 5 gives a remainder 3 and when divede by 7 gives a remainder of 5 Ans is 33.

Q28.a train when travelling from 2 station A and B when travelling a speed of 50km/hr is late by 10min, and when travelling at 30km/hr arrives a late by 50min. Find the distance.

29.rational no. is a.........
ans: real no. place blindly. 

30.a boat is going along the stream and returning in the opposite direction of stream it travels 10 km along stream.the sppeed of stream is 3 km/hr,then find the speed of boat.


31.a boy leaves his home 15 minute before his shedule time.He takes 10 minutes to reach the bus stop.he arrive at the stop at 8:40 am when he leaves the home.

32.A and B runing around a circle of perimeter of 1200meter(may be differ).A is runing at 210 meter/minute and bB is running 190 metre/minute in oppsite direction to each other.at wich time they will meet.

33.a boy start to count from 32 in the descending order.and another boy start counting from 1 at the same time and he count only the odd no.then find which no they will count at the same time.

there were 5 questions on syllogism. 
if inference is true then A is right
if inference is false then B is right
if inference is probably true then c
otherwise D

34.all the wives are women
she is women.
inference:
she is wife 

35.some of the teachers are fool.
A is a teacher.
inference:
A is a fool.

36.there is a ladder and 4 persons (A,B,C,D) on the ladder. A is further up than B and C. D is further up than A.Which is third from the bottom of the ladder? 
Ans: person A.

37.A person goes to the house of Sita who is the neighbour of Gita. 
Amar married with Anita who is the sister of Sita.
Ashu is the father of Amar.(a) What is the relation between Sita and Amar?
(b) What is the relation between Amar 
and Gita? 

38.In an elevator either 12 adults or 20 children can go. If 15 children already occupied the space , how many adults can go with children? ans: 3

39.Amit's D.O.B. is 3rd March 1980. Amit is four day's older than Sumit. The Republic Day of 1980 is Thrusday. What is the day of Sumit's D.O.B.?

40.A complete a race of 120m taking 4sec less than B. B takes one sec less than C. How much time taken by A to complete the race?

41.A person pointing towards a lady says She is the only sister of my father. Find the no. of childs of grandfather? ans: can't say

42.If GEN = 9 , ABOUT = 15 then GENERAL = ?

43.If DUST is called AIR . AIR is called RAIN.RAIN is called WATER. 
WATER is called COLOUR.
COLOUR is called ROAD. ROAD is called DUST.
Where the Fish lives?

44.A is richer than B. B is richer than C. C is richer than D. D is richer than E. Then who is the middle of this relation.

45.there is question to find the code of SEARCH the ans is c.
There are 5 or 6 questions based on coding and decoding.

46.A to Z. First letter A is swapped with Z, second letter B with Y, and so on. Which letter the tenth from right.
Questions:

1) For this question take 
A-1,B-2,C-3..........X-24,Y-25,Z-26.

Edwin is a judge and a numerologist.He is married to a woman whose name:

a) has a "product" that is the same as that for JUDGE:using the correspondence of letters and numbers above, this product is 10*21*4*7*5.
b)has no letter in common with JUDGE.
c)Has no third letter of the alphabet because 3 is his unlucky number.
d)Has letters in alphabetical order when the first letter and second letter are interchanged.

What is the name of the judge's wife?

2) The owner of the house has been murdered. The visitors to the mansion were Allen,bixby and Crain.

a) The murderer ,who was one of the three visitors ,arrived at the mansion later than atleast one of the other two visitors.
b)A detective,who was one of the three visitors,arrived at the mansion earlier than atleast one of the other two visitors 
c)The detective arrived at the mansion at midnight. 
d)Neither Allen nor Bixby arrive at the mansion after midnight
e)the earlier arriver of Bixby and crain wasnot the detective 
f)the later arriver of allen and crain was not the murderer 

Who was the murderer?

3) some farm tools and farm equipments have been stolen..3 farm workers were interrogated..Each one makes 2 statements.(i dont remember the statements)One of the statements made by each of them is right while the other is wrong. We have to tell who stole them.

4) There is 4-digit number..the second digit is 2 more than the first..the last digit is five more than the third..something like this..it is very simple..jus have to go from the choices given..

5) 

A D
B G E
C F

Each of seven digits from 0,1,2,3...8,9 is :
a) represented by a different letter in the figure above.
b) positioned in the figure above so that A*B*C, B*G*E and D*E*F are equal.

Which digit does G represent?

6) Given the names of four persons..and also given that one is taller than the other but shorter than someone else..statements like these..we have to find who is the shortest..

7) A man is walking inside the tunnel AB. when he is 3/8th of the distance from A, he hears a train coming from behind him..he sees that when he moves towards B, the train just catches him at B, and similar logic if he tried to reach A..the man walks at a steady rate of 8m/h..what is the speed of the train? 

8)Fifty minutes ago if it was four times as many minutes past four o clock, how many minutes is it to six o clock?

9) a simple problem related to ages..

10) There are 5 dacoits who have together stolen some gold coins..they stay at a place for the night hiding the bounty safely...When evreyone's asleep, one of the dacoits wakes up, takes 1/5th of the bounty plus one for himself..the rest he puts back in the bag and goes to sleep..the next dacoit wakes up, does the same thing,ie takes 1/5th of the remaining bounty plus one for himself, puts the rest back and goes to sleep..the third,fourth and fifth dacoits do the same thing..in the morning, they all wake up and divide the bounty equally among them..how may coins were there originally? The key to this question is to proceed from the options..see which number leaves a remainder 1 when divided by 5 four times continuously and the fifth time divides it exactly.

The rest 5 quests i dont remember....Quests 1,2 and 5 have been lifted straight out of Puzzles' by George
Summers..8 is from Shakuntala Devi..

Dont attempt the questions u r not confident of.. 

The GD round is said to be the Main elimination round in Satyam..The topic we were given was "US war on Iraq"..Some other topics could be "environmental pollution", "Indian Hockey" etc.

The interview consisted of both technical and HR questions..Expect questions from ur project..and brush up the subjects in ur major..

CSE- majors were asked on DBMS, a bit of networking, Object Orientation concepts.etc.

Keep Watching out for more IT Companies On Campus and Off Campus Placement papers, HR, GD Interview Tips and Questions. Previous Years Papers relating to AIEEE all subjects, CBSE Class 10th and 12 solved and unsolved question papers are available here. Also ICSE Board Papers are available. You can also view and download Medical Entrance Papers like AIPMT, AIMS, etc all subject papers. ALso see PTU B.tech Papers of all branches. See Electronics subjects previous papers and interview questions.. Other papers like IELTS, GRE, etc are also available. So watch out for the wealth of information for you on previouspapers.blogspot.com Good luck for your exams.. wish you a great career!!
atyam Conputers Placement Paper No.11

Satyam Computers Placement Paper for Freshers and Experienced Candidates:

1000 appeared.
299 shortlisted for GD.

1 mark for every right, 1/4 negative marks for every wrong answer.

Company: Satyam

15 Questions (Aptitude Only).
Time: 30 mins.

I am trying my best to give u complete questions (but all Qs are nt complete). The Questions are not in
serial order. I m mailing these to u for u to get an idea of paper pattern.

1. A train has lenght of 108m, it is travelling at a speed of 50km/hr. a second train with length of 1121m,
opposite direction to first train, passes the first train in 6 seconds. What is the speed of the second train?

options : a)40 b)55 c)65 d)non of these.

I chose d)

2. which no. comes next
7100, 13, 6, 4, 3, ... 

Sorry, I do'nt remember the options.

3. Magzine a is kept on b, b is abov g,i is blow h etc... which was kept at the bottom?(easy) 

4. there are two mugs, a 7ltr mug, a 3 ltr mug. what wud be the steps to fill 5ltr water in the 7 ltr jug??
a) fill the 3 ltr mug, pour its 3 ltrs water into 7ltr mug
b) fill the 3 ltr mug, pour its 3 ltrs water into 7ltr mug
c) fill 3 ltr mug and pour 1 ltrs water into the 7 ltr mug
d) empty the 7 ltr mug, pour the remaining 2 ltrs water in 3ltrs jug, into the 7 ltr jug.
e) fill the 3 ltr mug, pour its 3 ltrs water into 7ltr mug

options: a) abced b)acbde c)abcde d)acbed

Ans: abcde 

5. I m chaising a thies. The theif has a head start of 10 miles over me.i have a speed 1 mile/hr greater
than the theif. my dog has a speed of 10km/hr. My dog runs to and fro between me and the thief.
How many miles does my dog run, before i catch the thief?

a)96 miles b)124 mile c) 140 miles d) 180miles

Ans: 96 miles(b'cos the dog can cover a maximum of 10km/hr * 10hr=100km by the time i catch the
thief. ie., about 96 or 94 miles. (options i have given for this Q are correct.)

6. George J Summers, " The Great book of puzzles and teasers" pg49, Question name : The Widow.

(the following Q is compelete and accurate.) 
Four women Anna, Beth, Cass, Dora and 3 men Earl,
Fred, Gene playbridge, a card game for 4 players.

condition: a) 
The men and women consist of 3 married couples. and a widow.

condition: b) 
The members of each married couple are never partners in a bridge game.

condition: c)
No more than one married couple ever plays in the same bridge match.

condition: d)
One night they played four bridge games in which the partners were as follows: 

partners

Anna and Earl Vs Beth and Fred
Anna and Gene Vs Dora and Fred
Beth and Cass Vs Fred and Gene
Cass and Earl Vs Dora and Gene

who is the widow ? 

Ans: Cass is the widow.

7. George J Summers, " The Great book of puzzles and teasers" pg148, Question name : The Murderer in the
Mansion.

(the following Q is compelete and accurate.) 

The owner of the mansion has been murdered. The visitors to the mansion were Allen, Bixby, Crain. 

condition: a)
The murderer was one of the three visitors, arrived at the mansion later than atleast one of the other two
visitors.

condition: b) 
A detective who was one of the three visitors arrived at the mansion earlier than atleast one of the other
two visitors.

condition: c)
the detective arrived at the mansion at midnight. 

condition: d)
nither Allen nr Bixby arrived at the mansion after midnight. 

condition: e)
The earlier arriver of Bixby and Crane was not the detective.

condition: f)
The later arriver of Allen and Crain was not the murderer.

Who was the murderer.

Ans: Allen was the Detective and the Murderer (both).

8. A questiono of type 

one
+ one 
+seven

9. (inaccurate Q) AT="xy" MAT="YSD" then vb="?" This type of question.

10. Find next word in the series: 
Redden:ample:somthing:something...

11. A Q on upstream Downstream.

12. A simple Q on a chess match.

13. A series of 3 figures, Question was to predict the next figure.

5 q's in 30 mins

All Aptitude

1. get the correct arrangment of sentences.
i. This is.
ii.This is sentence with 4 references.
iii.This is to say that this sentence is a lonf sentence.
iv.This is not the last sentence of the paragraph.
v. The previous sentence to this is the longest sentence.
vi.This is first sentence of last paragraph.
vii.This refers to last sentence.
There were 2 more sentncs similar 2 this. For the correct soln look at the answers & get it. By lookin at the stmts u wont get anythin.
2. Somethin bout _a's,ii b's,ii c's.......i didnt get the question.
3. A third of this value is 1/2. What is the value.
Ans: 3/2
4. How to measure 4 l by using 5 l & 3 l vessels only.
Choices were 5 l - 520254 3 l - 032.....u will get it by lookin at answers.
5. there are 6 somethins...lets call it cups...holding 19,14,21,35,10,8 nails each. Joe and Jack bought 5 of them with Jack buying twice number of nails than Joe. How much did they buy. 
Ans: Jack-21,35,10 Joe-19,14 U can get it by lookin at ans(again). Easy.
6. Truck is travellin at 60 kmph. Wat rate should car travel to be ahead of truck for 2 mins.
Choices were 72, 66.8, 90,.... Me thinks its 66.8. Not sure.
7. Ther are 10 red balls,6 white and 5 blue. How many balls should i pick to make sure that i have atleast 1 of each. 
8. A horribly phrased & really long question bout base 3....If u do get it attempt it only if time permits. 
9.Next 4 Very very easy. 
Old code
BLUE SKY (or somethin)....most of my qs r not xact
1234 567
New Code
SKY BLUE
123 4567

A company initially had a code for keepin price secret(god knows why)....dat was old code. They felt it was time 2 change & adopted to new code. 

Q: If LKY was old code...what is corresponding new code
10. Refer above for a similar Q
11.Again from the 8th one....something about letters repeating themselves.
12. If SUE was in old code & was overlooked during new code....wat will the price be if salesman does not change code. Again refer 8.
from 4 most can score easily.
13. There are 1 way routes from A to G, Mto H, A to F....(A, G etc are given as some place)
Which is the shortest route from A to F.
Ans: U dont even have to draw a graph. Just look at q & ans is urs.
14. A Fence was being erected by Jatin. The poles were to be 5 ft apart, but as Jatin(the fool that he is) forgot to bring 4 poles, he erected them 7 ft apart. The q is how much distance was the fence to cover. 
Choice: 70 ft 92 ft 100 ft 75 ft....Ans: 70 ft.
15. A friend of my, a teacher, lives in a house. When i asked her address she told me that she lived in a street where her side had the houses marked successively with consecutive even house numbers. She told me that the block of 6 houses near her house on the same side had a total of the house numbers as 8790 & that her house had the lowest number among them. Wat was the number of her house.
Another easy one.
Related: Satyam Computers Placement Papers
Following this was a gd. There were 5 topics

1. US war on iraq-justified or not.
2. Role of UN in peacekeeping.
3. Position of Women in India compared to other nations.
4. Environment MAnagement.
5. Is China better than India in software.
Ppl appearin for test: 828
PPl selected for gd: 300
Ppl selected for interviews: 142
ANTONYMS 

1. Disregarded 
(a) heed 
(b) hopeful
(c) evade
(d) dense

Ans. (a)

2. Obviate
(a) becloud
(b) necessitate
(c) rationalize
(d) execute

Ans. (b)

3. Superficial
(a) profound
(b) exaggerated
(c) subjective
(d) spirited

Ans. (a)

4. Abide
(a) retract an offer
(b) refuse to endure
(c) shield from harm
(d) exonerate

Ans. (b)

5. Acerbity
(a) noteworthiness
(b) hypocrisy
(c) mildness of temperament
(d) lack of anxiety

Ans. (c) 



Directions: Each question or group of questions is based on a passage or set of conditions. For each question, select the best answer choice given.

Quesitions 6-9

In a certain society, there are two marriage groups, Red and Brown. No marriage is permitted within a group. On marriage, males become part of their wife's group: women remain in their own group. Children belong to the same group as their parents. Widowers and divorced males revert to the group of their birth. Marriage to more than one person at the same time and marriage to a direct descendant are forbidden.

6. A Brown female could have had
I. a grandfather born Red
II. a grandmother born Red
III. two grandfathers born Brown

(a) I only
(b) II only
(c) I and II only
(d) II and III only
(e) I,II and III

Ans. (c)

7. A male born into the Brown group may have

(a) an uncle in either group
(b) a Brown daughter
(c) a Brown son
(d) a son-in-law born into the Red group
(e) a daughter-in-law in the Red group

Ans. (a)

8. Which of the following is not permitted under the rules stated?

(a) A Brown male marrying his father's sister
(b) A Red female marrying her mother's brother
(c) A man born Red, who is now a widower, marrying his brother's widow
(d) A widower marrying his wife's sister
(e) A widow marrying her divorced daughter's ex-husband

Ans. (b) 

9. If widowers and divorced males retained the group they had upon marrying, which of the following would have been permissible?(Assume no previous marriages occurred)

(a) A woman marrying her dead sister's husband 
(b) A woman marrying her divorced daughter's ex-husband.
(c) A widower marrying his brother's daughter
(d) A woman marrying her mother's brother, who is a widower
(e) A divorced male marrying his ex-wife's divorced sister

Ans. (d)

Questions 10-13

Tom wishes to enroll in Latin AA, Sanskrit A, Armenian Literature 221, and Celtic Literature 701.
Latin AA meets five days a week, either from 9 to 11 A.M or from 2 to 4 P.M.
Sanskrit A meets either Tuesday and Thursday from 12 noon to 3 P.M., or Monday, Wednesday, and Friday
from 10 A.M to 12 noon.
Armenian Literature 221 meets either Monday, Wednesday, and Friday from 12:30 to 2 P.M., or Tuesday and Thursday
from 10:30 A.M to 12:30 P.M
Celtic Literature 701 meets by arrangement with the instructor, the only requirement being that it meet for one four-hour session or two two-hour sessions per week, between 9A.M and 4 P.M from Monday to Friday, beginning on the hour.

10. Which combination is impossible for Tom?

(a) Latin in the morning, Sanskrit on Tuesday and Thursday, and Armenian Literature on Monday, Wednesday, Friday
(b) Latin in the afternoon and Sanskrit and Armenian Literature on Monday, Wednesday, and Friday.
(c) Latin in the afternoon, Sanskrit on Monday, Wednesday, and Friday,and Armenian Literature on Tuesday and Thursday
(d) Latin in the morning and Sanskrit and Armenian Literature on Monday, Wednesday, and Friday
(e) Latin in the afternoon, Armenian Literature on Monday, Wednesda and Friday, and Celtic Literature on Tuesday

Ans. (d)


11. Which of the following gives the greatest number of alternatives for scheduling Celtic Literature, assuming that all other courses 

(a) Latin in the afternoon and Armenian Literature Monday, Wednesday and Friday
(b) Sanskrit on Tuesday and Thursday and Armenian Literature on Monday, Wednesday and Friday
(c) Latin in the afternoon and Armenian Literature Tuesday and Thursday
(d) Latin in the morning and Sanskrit on Tuesday and Thursday
(e) Sanskrit on Monday, Wednesday, and Friday. and Armenian Literature on Tuesday and Thursday

Ans. (a)

12. If the Celtic instructor insists on holding at least one session on Friday, in which of the following can Tom enroll?
(I) Armenian Literature on Monday, Wednesday, and Friday
(II) Sanskrit on Monday, Wednesday, and Friday

(a) I only
(b) II only
(c) both I and II
(d) I or II but not both
(e) neither I nor II 

Ans. (d)

13. Which of the following additional courses, meeting as indicated, can Tom take?

(a) Maths--Monday, Wednesday, and Friday from 10A.M to 12 noon
(b) French--Monday, Wednesday, and Friday from 11A.M to 12:30 P.M
(c) English--Tuesday and Thursday from 2 to 4 P.M
(d) Japenese--Tuesday and Thursday from 1 to 3 P.M
(e) Old Norse-Icelandic--Monday only from 12 to 3 P.M

Ans. (b)

Questions 14-18

(1) Ashland is north of East Liverpool and west of Coshocton 
(2) Bowling Green is north of Ashland and west of Fredericktown
(3) Dover is south and east of Ashland
(4) East Liverpool is north of Fredricktown and east of Dover
(5) Fredricktown is north of Dover and west of Ashland
(6) Coshocton is south of Fredricktown and west of Dover


14. Which of the towns mentioned is furthest to the northwest ?

(a) Ashland
(b) Bowling Green
(c) Coshocton
(d) East Liverpool
(e) Fredericktown

Ans. (b)

15. Which of the following must be both north and east of Fredricktown?
(I) Ashland
(II) Coshocton
(III) East Liverpool

(a) I only
(b) II only
(c) III only
(d) I and II
(e) I and III

Ans. (e)

16. Which of the following towns must be situated both south and west of at least one other town?

(a) Ashland only
(b) Ashland and Fredricktown
(c) Dover and Fredricktown
(d) Dover,Coshocton and Fredricktown
(e) Dover,Coshocton and East Liverpool

Ans. (d)

17. Which of the following statements, if true, would make the information in the numbered statements more specific?

(a) Coshocton is north of Dover
(b) East Liverpool is north of Dover
(c) Ashland is east of Bowling Green
(d) Coshocton is east of Fredericktown
(e) Bowling Green is north of Fredericktown
Continued from Previous Satyam Placement Paper:

18. Which of the numbered statements gives information that can be deduced from one or more of the other statement?
(a) (1)
(b) (2)
(c) (3)
(d) (4)
(e) (6)
Ans. (c)

Questions 19-22 

Spelunkers International offers exploring tours in eight caves: Abbott, Benny, Caeser, Dangerfield, Ewell, Fields, Guinness, and Hope 
(1) Class 1 spelunkers may not attempt cave Ewell, Fields or Hope
(2) Class 2 spelunkers may not attempt Hope
(3) Class 3 spelunkers may attempt any cave 
(4) Cave Caesar may be attempted only by spelunkers who have previously explored cave Benny
(5) Cave Fields may be attempted only by spelunkers who have previously explored cave Ewell
(6) Only two of caves Benny, Caeser, Ewell, Fields, and Hope may be attempted by any explorer in a single tour 

19. A class 2 spelunker who has previously explored cave Ewell may be restricted in choosing a tour by which rule(s)?
(I) Rule(4)
(II) Rule(5)
(III) Rule(6)

(a) I only
(b) II only
(c) I and III only
(d) II and III only
(e) I, II and III
Ans. (c)

20. In how many different ways may a class 1 spelunker who has never explored any of the eightcaves before set up a tour of three caves, if she wishes to explore caves Abbott and Caesar?
(a) 2
(b) 3
(c) 4
(d) 5
(e) 6
Ans. (b)

21. What is the maximum number of caves that a class 3 spelunker who has previously explored only cave Benny may include in a single tour?
(a) 4
(b) 5
(c) 6
(d) 7
(e) 8
Ans. (b)

22. If x + y = 3 and y/x= 2 then y = ?
(a) 0
(b) 1/2
(c) 1
(d) 3/2
(e) 2
Ans. (e)

23. How many squares with sides 1/2 inch long are needed to cover a rectangle that is 4 ft long and 6 ft wide
(a) 24
(b) 96
(c) 3456
(d) 13824
(e) 14266 

24. If a=2/3b , b=2/3c, and c=2/3d what part of d is b/
(a) 8/27
(b) 4/9
(c) 2/3
(d) 75%
(e) 4/3
Ans. (b)


25. Successive discounts of 20% and 15% are equal to a single discount of 
(a) 30%
(b) 32% 
(c) 34% 
(d) 35% 
(e) 36
Ans. (b)

26. The petrol tank of an automobile can hold g liters.If a liters was removed when the tank was full, what part of the full tank was removed?
(a)g-a
(b)g/a
(c) a/g
(d) (g-a)/a
(e) (g-a)/g
Ans. (c)

27.If x/y=4 and y is not '0' what % of x is 2x-y
(a)150%
(b)175%
(c)200%
(d)250%
Ans. (b)

28.If 2x-y=4 then 6x-3y=?
(a)15
(b)12
(c)18
(d)10
Ans. (b) 

29.If x=y=2z and xyz=256 then what is the value of x?
(a)12
(b)8
(c)16
(d)6
ns. (b)

30. (1/10)18 - (1/10)20 = ?
(a) 99/1020
(b) 99/10
(c) 0.9
(d) none of these
Ans. (a)

31. Pipe A can fill in 20 minutes and Pipe B in 30 mins and Pipe C can empty the same in 40 mins.If all of them work together, find the time taken to fill the tank
(a) 17 1/7 mins
(b) 20 mins
(c) 8 mins
(d) none of these
Ans. (a)

32. Thirty men take 20 days to complete a job working 9 hours a day.How many hour a day should 40 men work to complete the job?
(a) 8 hrs
(b) 7 1/2 hrs
(c) 7 hrs
(d) 9 hrs
Ans. (b)

33. Find the smallest number in a GP whose sum is 38 and product 1728
(a) 12
(b) 20
(c) 8
(d) none of these
Ans. (c) 

34. A boat travels 20 kms upstream in 6 hrs and 18 kms downstream in 4 hrs.Find the speed of the boat in still water and the speed of the water current?
(a) 1/2 kmph
(b) 7/12 kmph
(c) 5 kmph
(d) none of these
Ans. (b)

35. A goat is tied to one corner of a square plot of side 12m by a rope 7m long.Find the area it can graze?
(a) 38.5 sq.m
(b) 155 sq.m
(c) 144 sq.m
(d) 19.25 sq.m
Ans. (a)

